Spiral 14: Due 1-20-2017 NO CALCULATORS!!!!!!  
Show All Work! Start by writing the equation and solve them algebraically. They have to be solved algebraically for credit!!!!!!
6. A cell phone plan costs $30 per month for unlimited calling plus

$0.15 per text message.
a. Write a linear model that represents the monthly cost of this cell

phone plan if the user sends t text messages.
b. If you send 200 text messages, how much would you pay

according to this cell phone plan?
7. Ben walks at a rate of 3 miles per hour. He runs at a rate of 6 miles

per hour. In one week, the combined distance that he walks and runs is

210 miles.
a. Write a linear model that relates the number of hours that Ben

walks to the number of hours Ben runs.
b. Ben runs for 25 hours. For how many hours does he run?
8. A salesperson receives a base salary of $35,000 and a commission of

10% of the total sales for the year.
a. Write a linear model that shows the salesperson’s total income

based on total sales of k dollars.
b. If the salesperson sells $250,000 worth of merchandise, what is

her total income for the year, including her base salary?
9. Amery has x books that weigh 2 pounds each and y books that weigh

3 books each. The total weight of his books is 60 pounds.
a. Write a linear model that relates the number of 2 pound books to

the number of 3 pound books Amery has.
b. If Amery has 10 3-pound books, how many 2-pound books does

he have?
10. Max sells lemonade for $2 per cup and candy for $1.50 per bar. He

earns $425 selling lemonade and candy.
a. Write a linear model that relates the number of cups of lemonade

he sold to the number of bars of candy he sold.
b. If Max sold 90 bars of candy, how many cups of lemonade did he

sell?
13. Correct the Error

Question: The model 2x + 5y = 85 can be used to model how much

money Tim spent on x sodas and y sandwiches. If he bought 15 sodas,

how many sandwiches did he purchase?

Solution:

2x + 5(15) = 85

2x + 75 = 85

2x = 10 or x = 2

Tim bought 2 sandwiches.

What is the error? Explain how to solve the problem.

_________________________________________________________
